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1 TSH > 6.5 | uu/ml TSH > 10 pu/mi
3 TSH > 7 uu/ml TSH > 10 | pu/ml
. TSH = ! 795 | pu/ml TSH = 10 | pu/mi TSH = 30§ pu/mi
or TSH = 97 %ile or FT4 < 0.95 ng/dl
7 TSH > 8 uu/mi TSH > 10 pu/mi
or TSH = 3 %ile
. TSH = 8 pu/ml TSH = 10 | pu/mi TSH = 30 | pu/mi
or FT4 < 1 ng/dl or FT4 < 0.9 ng/dl or FT4 < 0.9 ng/dl
10 TSH > 10 pu/mi TSH > 10 pu/mi TSH > 30 pu/mi
13 TSH > 9 uu/ml TSH > 9 uU/ml TSH > 25 | pu/ml
1 TSH = 8 pu/ml TSH = 8 uU/ml TSH = 16 pmol/I
or TSH = 97 %ile
1 TSH > 7 uu/mi TSH > 10 pu/ml
or TSH = 97 %ile
N TSH > 8 uu/mi TSH > 10 pu/mi
or TSH = 97 %ile
s TSH > 9 uu/mi TSH > 9 pu/mi TSH > 40 pu/mi
or TSH = 95 %ile or TSH = 99 %ile
N TSH > 8 uu/mi TSH > 10 pu/ml TSH > 25 pu/mi
or TSH = 97 %ile
N TSH > 7 uu/mi TSH > 10 pu/ml
or TSH = 95 %ile
TSH = 10 uu/ml TSH = 10 uU/ml TSH = 30 uu/ml
2 or TSH = 95 %ile
or FT4 < 1 ng/dl
or FT4 < 5 %ile
23 TSH = 8 uu/ml TSH = 8 uU/ml TSH = 8 uu/ml TSH = 30 uU/ml
2 TSH = 6.5 uu/mi TSH = 10 uu/mi
or TSH = 96 %ile
- TSH = 95 %ile TSH = 8 uu/mi TSH = 30 uu/mi
or TSH = 8 pu/ml
27 TSH = 10 uu/mi TSH = 10 uu/mi
28 TSH = 8 uu/ml TSH = 9 uU/ml TSH = 30 uu/ml
or TSH = 96 %ile
2o TSH > 7 uu/mi TSH > 1 95 | uu/ml TSH > 20 | pu/mi
or TSH = 97 %ile
N TSH > 7 uu/mi TSH > 10+ pU/ml TSH > 30 | pu/mi
or TSH = 95 %ile
N TSH > 10 | pu/mi TSH > 10 | pu/ml
or TSH > 95 %ile
32 TSH > 8 uu/mi TSH > 8 uU/ml TSH > 25 & pU/ml
33 TSH > 9 uu/mi TSH > 9 pu/mi
34 TSH > ! 85 | uU/ml TSH > 10 | pU/ml
. TSH > 8 uu/mi TSH > 10 pu/mi
or TSH = 95 %ile
36 TSH > 9 uU/ml
37 TSH > 6.5 | uu/ml TSH > 75 | uu/ml TSH > 30 | uu/ml
2 TSH > 8 uu/mi TSH > 10 pu/mi TSH > 30 pu/mi
or TSH 2 95 %ile




20 TSH = 6 uu/ml TSH > 10 pu/ml TSH > 15 uu/ml
or TSH = 97 %ile
TSH = 8 uu/ml TSH = 10 uu/ml TSH = 30 uu/ml H—RIRE - HERRE  hy bATEEN]
or HAERKSE < 1 2000 g
42 & FT4 < 0.3 ng/dl lor Hi4hE < 20009
or HAERKE = | 2000 g or HAERE = | 2000 g or HAERE = | 2000 g Iz FT4 < 0.7ng/dl
& FT4 < 1 ng/dl & FT4 < 1 ng/dl & FT4 < 0.5 ng/dl
s TSH = 7 uu/ml TSH > 9.5 | pu/ml
or TSH = 97 %ile
49 TSH > 9 uu/ml TSH > 9 uu/ml TSH > 30 uu/ml
o TSH =1 94 | uu/ml TSH > 1 94 } uu/ml
or TSH = 97 %ile
o TSH > 7 uu/ml TSH > 10§ pu/ml
or TSH = 95 %ile
o TSH > 7 uu/ml TSH > 10 | pu/ml TSH > 30 | pu/ml
or TSH = 97 %ile
67 TSH > 10 | pu/ml TSH > 10 | pu/ml TSH > 30 | pU/ml
69 TSH > 10 uu/ml TSH > 10 uu/ml
71 TSH > 10§ pu/ml TSH > 10 | pu/ml TSH > 30 | pu/ml
3 TSH > 9 uu/ml TSH > 10 pu/ml TSH > 30 uu/ml
or TSH = 97 %ile
74 TSH = 8 pu/ml TSH = 8 uU/ml
or TSH = 97 %ile
75 TSH > 9 uu/ml TSH > 30 uu/ml
76 TSH = 7 uU/ml TSH = 10 uU/ml TSH = 20 uU/ml
8 TSH > 7 uu/ml TSH > 9 pu/ml TSH > 30 uu/ml
or TSH = 95 %ile
TSH > 7 uu/ml TSH > 10 pu/ml TSH > 30 uu/ml
or FT4 < 1 ng/dl or FT4 < 0.5 ng/dl
82 or FT4 = 3.5 ng/dl or FT4 = 5 ng/dl
or TSH = 95 %ile
or FT4 = 5 %ile
a3 TSH = 9.4 pnu/mi TSH = 9.4 uu/mi TSH = 18.8 uu/mi
or TSH = 97 %ile
84 TSH = 8 pnu/mi TSH = 10 uu/mi
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1 17-OHP([& ) = 4 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP(IE ) = 4 ng/ml
3 17-OHP(E %) = 6 ng/ml 17-OHP(IE $%) = 6 ng/ml 17-OHP(H#1H) = 4 ng/ml
6 17-OHP([& ) = 3.7 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP(#1H) = 10 ng/ml
or 17-OHP(E %) = 95 %ile
7 17-OHP([& ) = 4 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP(TE ) = 4 ng/ml
8 17-OHP(E %) = 5 ng/ml 17-OHP(IE $%) = ng/ml 17-OHP(H#1H) = 4 ng/ml 17-OHP(#1H) = 10 ng/ml
17-OHP(E %) > 5 ng/ml 17-OHP(LCMS) > 1 ng/ml
10 & | (17-OHP+4-AD)/F | > 0.1 ratio
& 11-DOF/17-OHP < 0.3 ratio
17-OHP(E 1%) = 4 ng/ml 17-OHP(LCMS) = 15 ng/ml 17-OHP(LCMS) = 5 ng/ml |BMEEAY MABORAEF2181ZHD : 17-0OHP
1 & | 11-DOF/17-OHP | =< 0.3 ratio | & | 11-DOF/17-OHP | < 0.1 ratio 5’1117‘3)?_:2;;‘1?;‘25 021\7—9%?;;;\-?,;;
& | (17-OHP+4-AD)/F | = 0.3 ratio | & | (17-OHP+4-AD)/F | = 2 ratio meiemE
& 21-DOF = 1 ng/ml
17-OHP(E ) = 4 ng/ml 17-OHP(E 1) = 4 ng/ml 17-OHP(LCMS) = 1 ng/ml 17-OHP(LCMS) = 20 ng/ml | (FERA37WELE]
14 or 17-OHP(EL§E) > 97 sile | or 17-OHP(EE §%) > 97 %ile | & | 11-DOF/17-OHP | < | 03 ratio | or | 17-OHP(LCMS) = 30 | ng/ml |(TERA37WKIE)
& (17-OHP+4-AD)/F = 0.1 ratio or 21-DOF = 1 ng/ml
16 17-OHP(E %) = 4 ng/ml 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 35 ng/ml
or 17-OHP(E %) = 95 %ile
o 17-OHP(HE $%) = 5 ng/ml 17-OHP(E %) = 5 ng/ml 17-OHP (31 Hi) = 3.5 ng/ml
or 17-OHP(E %) = 95 %ile
18 17-OHP(E %) = 6 ng/ml 17-OHP(E %) = 6 ng/ml 17-OHP(HE %) = 9 ng/ml 17-OHP(E %) = 20 ng/ml | RFABLUS x> 2023
or 17-OHP(E %) = 95 %ile & 17-OHP(E %) = 20 ng/ml
20 17-OHP([& ) = 4 ng/ml 17-OHP(E ) = 5 ng/ml 17-OHP($ ) = 4 ng/ml 17-OHP([E %) = 50 ng/ml
or 17-OHP(E %) = 95 %ile or 17-OHP(31 i) = 10 ng/ml
” 17-OHP(E %) > 45 ng/dl 17-OHP(E %) > 45 ng/dl 17-OHP(HE $%) > 2.5 ng/dl
or 17-OHP(E %) = 95 %ile
2 17-OHP([E %) = 4 ng/ml 17-OHP(E ) = 4 ng/ml 17-OHP(#i ) = 3 ng/ml 17-OHP(#1 ) = 10 ng/ml
or 17-OHP([E %) = 95 %ile
ZRIREEEMERO DY MATBIETERRBEC LD
17-OHP(E %) = 10 ng/ml 17-OHP(IE %) Z 10 ng/ml TERRE R > 37 week TERAE S > 37 week tg;r;oiza
—RIRE
30K THEA10ng/mIM £
23 & 17-OHP(E %) = 10 ng/ml | & 17-OHP(E %) = 30 ng/ml E;*%%?;@NM% Sng/mitE
30:BAKH CEEE30ng/mIBL EHDtE
30ng/mi £
or 17-OHP($ ) 2 2 ng/ml | & 17-OHP(#1H) = 10 ng/ml | 30~36ETEHE30ng/mI EN DL
20ng/miX &
" 17-OHP(E 1%) = 6.5 ng/ml 17-OHP(E ) = 6.5 ng/ml 17-OHP(LCMS) = 1.5 ng/ml
or 17-OHP([E ) = 95 %ile & 11-DOF/17-OHP = 0.4 ratio
’s 17-OHP(E 1%) = 95 %ile 17-OHP(E ) = 10 ng/ml 17-OHP($i ) = 4 ng/ml 17-OHP(#i ) = 10 ng/ml
or 17-OHP([E ) = 4 ng/ml
27 17-OHP(E %) = 5 ng/ml 17-OHP(E $%) = 5 ng/ml 17-OHP(IE $%) = 1.8 ng/ml
28 17-OHP(E %) = 4 ng/ml 17-OHP(E $%) = 10 ng/ml 17-OHP(3f1 Hi) = 4 ng/ml 17-OHP(E %) = 30 ng/ml
or 17-OHP([E %) = 95 %ile or 17-OHP(#1 ) = 10 ng/ml
29 17-OHP(E §%) = 4 ng/ml 17-OHP(E #%) = 4 ng/ml 17-OHP(H1H) = 4 ng/ml 17-OHP(#1 Hi) = 10 ng/ml |EMEERRAROBEDH.
30 17-OHP(E #%) = 4 ng/ml 17-OHP(& $%) = 4 ng/ml 17-OHP(H#1H) = 3.5 ng/ml 17-OHP(E %) = 30 ng/ml
or 17-OHP(E %) = 95 %ile
31 17-OHP(E #%) = 4 ng/ml 17-OHP(E %) = 4 ng/ml 17-OHP(H#1 ) = 4 ng/ml
or 17-OHP(E %) > 95 %ile




32 17-OHP(E %) = 4 ng/ml 17-OHP(IE %) = 4 ng/dl 17-OHP(E %) = 10 ng/dl
33 17-OHP(E $%) = 5 ng/ml 17-OHP(HE {%) = 5 ng/ml 17-OHP(IE #%) = 4 ng/ml
34 17-OHP(E %) = 45 ng/dl 17-OHP(IH %) = 5 ng/dl 17-OHP(E %) = 5 ng/dl
35 17-OHP(E %) = 5 ng/ml 17-OHP(E #%) = 5 ng/ml 17-OHP(E #%) = 3.5 ng/ml
or 17-OHP(E %) = 95 %ile
36 17-OHP(E %) = 5.8 ng/ml 17-OHP(#1 ) = 3 ng/ml
17-OHP(E %) = 4 ng/ml 17-OHP(IE %) = 4 ng/ml 17-OHP(H1H) = 3 ng/ml 17-OHP(IE %) = 50 ng/ml
37 or 17-OHP(#1H) = 8 ng/ml
& HAERE = | 2000 g
. 17-OHP(EH) | =2 | 5 | ng/ml 17-OHP(EH) | Z | 5 | ng/ml 17-oHp(EH) | = | 35 | ng/ml 17OHPEHE) | 2 | 20 | ng/mi [T ATEAIACS ST, B
or 17-OHP([& ) = 95 %ile or 17-OHP(#1H) = 10 ng/ml EMBEE AR EREIRC
20 17-OHP(E #%) = 4 ng/ml 17-OHP(H#1H) = 3 ng/ml 17-OHP([E #%) = 30 ng/ml [EHERBRSTIZHERESD
or 17-OHP([& ) = 95 %ile or 17-OHP(#1H) = 10 ng/ml
17-OHP(E #%) = 4 ng/ml 17-OHP(IE 1%) 2 4 ng/ml 17-OHP(LCMS) = 1 ng/ml 21-DOF = 1 ng/ml
(17-OHP+4-AD)/F | = 0.1 ratio | or TERRE < 37 week
42 11-DOF/17-OHP = 0.3 ratio | & | 17-OHP(LCMS) = 30 ng/ml
or TERRE = 37 week
& 17-OHP(LCMS) = 20 ng/ml
43 17-OHP(E $%) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP(E $%) > 4 ng/ml
49 17-OHP(E %) = 5 ng/ml 17-OHP(E #%) = 5 ng/ml 17-OHP(H#1H) = 4 ng/ml 17-OHP(#1H) = 10 ng/ml |EVFEARME : EAAERIRARRC
4 17-OHP(E $%) = 5 ng/ml 17-OHP(HE $%) = 5 ng/ml 17-OHP(E $%) = 3.5 ng/ml
or 17-OHP(E %) = 95 %ile
o 17-OHP(E $%) = 3.5 ng/ml 17-OHP(HE #%) = 3.5 ng/ml 17-OHP(E $%) = 3.5 ng/ml
or 17-OHP(E %) = 95 %ile
66 17-OHP(E $%) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP($ H) = 3.5 ng/ml 17-OHP({#1H) = 10 ng/ml
or 17-OHP(E %) = 95 %ile HAERE = | 2000 g & HERE = | 2000 g
17-OHP(HE $%) = 5 ng/ml 17-OHP(E %) > 5 ng/ml 17-OHP(LCMS) = 2.5 ng/dl 17-OHP(E %) > 30 ng/ml
67 (17-OHP+4-AD)/F | > 0.1 ratio
11-DOF/17-OHP < 0.2 ratio
17-OHP(E %) = 5.5 ng/ml 17-OHP(IE $%) = 5.5 ng/ml 17-OHP(LCMS) = 2.5 ng/ml
69 (17-OHP+4-AD)/F | = 0.1 ratio
11-DOF/17-OHP = 0.2 ratio
71 17-OHP([E %) = 4 ng/ml 17-OHP(E %) = 4 ng/ml 17-OHP(#1 ) = 3.5 ng/ml 17-OHP(#1 ) = 10 ng/ml
73 17-OHP(E %) = 4 ng/ml 17-OHP(IE $%) = 4 ng/ml 17-OHP(H#1H) = 3.5 ng/ml 17-OHP(3f Hi) = 10 ng/ml
or 17-OHP([E %) = 95 %ile
74 17-OHP(E ) = 4 ng/ml 17-OHP(E %) = 4 ng/ml 17-OHP(E %) = 1 ng/ml
or 17-OHP([E %) = 97 %ile or 17-OHP(E %) = 97 %ile 11-DOF/17-OHP = 0.3 ratio
75 17-OHP(E {%) = 5.8 ng/ml 17-OHP(H#1H) = 3 ng/ml 17-OHP(3 Hi) = 7 ng/ml
76 17-OHP([E %) = 6 ng/ml 17-OHP(E §) = 6 ng/ml 17-OHP($i ) = 4 ng/ml
8 17-OHP(E $%) = 4 ng/ml 17-OHP(E $%) = 4 ng/ml 17-OHP(H1H) = 3.5 ng/ml 17-OHP(H#1H1) = 10 ng/ml
or 17-OHP([E %) = 95 %ile or 17-OHP(E §) = 95 %ile
17-OHP(E %) = 3.5 ng/ml 17-OHP(E #%) = 3.5 ng/ml 17-OHP(H#1H) = 3.5 ng/ml 17-OHP(H#1H) = 10 ng/ml |BM#E% : 17-OHP (&##) 220ng/ml
82 o | 17oWp@ERE) | = | 9 seile A B OEABAAE I ZLRORIC OV TOMES
17-OHP(E %) = 5 ng/ml 17-OHP(E %) = 5 ng/ml 17-OHP(LCMS) = 2 ng/ml 17-OHP(LCMS) = 5 ng/ml
or 17-OHP([E %) = 95 %ile (17-OHP+4-AD)/F | = 0.2 ratio & ! (17-OHP+4-AD)/F = 0.2 ratio
83 11-DOF/17-OHP = 0.4 ratio | & | 11-DOF/17-OHP =< 0.4 ratio
or 17-OHP(LCMS) = 5 ng/ml
& 21-DOF = 1 ng/ml
17-OHP(E 1%) = 4 ng/ml 17-OHP(E $) = 4 ng/ml 17-OHP(LCMS) = 1 ng/ml
84 (17-OHP+4-AD)/F | = 0.1 ratio
11-DOF/17-OHP = 03 ratio
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1 Gal = 3 mg/dl Gal = 4 mg/dl
or Gal-1-P = 14 mg/dl | or Gal-1-P = 15 mg/d|
3 Gal = 2.5 mg/dl Gal = 3 mg/d|
Gal = 2.5 mg/dl Gal = 3 mg/dl Gal = 10 mg/dl
6 or Gal = 95 %ile or T-Gal = 10 mg/dl
or T-Gal = 8 mg/dl | or Gal-1-P = 15 mg/dl
or T-Gal = 95 %ile
Gal = 3 mg/dI Gal = 3 mg/dl
7 or T-Gal = 10 mg/dl | or T-Gal = 10 mg/dl
or Gal-1-P = 15 mg/dl | or Gal-1-P = 15 mg/d|
8 Gal > 2.5 mg/dl Gal > 3 mg/d| Gal > 10 mg/d|
or Gal-1-P > 13 mg/dI or Gal-1-P > 15 mg/d|
10 Gal > 3 mg/dl Gal > 3 mg/dl Gal > 30 mg/dl ED*EE?JW I\‘7fl7(2tGa| >30mg/dL&MRA hS—3&
or Gal-1-P > 15 mg/dI or Gal-1-P > 15 mg/d| (EtE) BARL TY.
13 Gal = 6.5 mg/dl Gal = 8 mg/dl
or Gal-1-P = 22 mg/dl | or Gal-1-P = 25 mg/d|
1 Gal = 25 mg/dl Gal = 3 mg/dl Gal = 10 mg/dl
or Gal-1-P = 13.5 mg/dl | or Gal-1-P = 15 mg/d| or Gal-1-P = 25 mg/dl
16 Gal = 3 mg/dl Gal = 6 mg/dl
or Gal-1-P = 15 mg/d|
Gal = 25 mg/dl Gal = 3 mg/dl
17 or T-Gal = 6.45 mg/dI or Gal-1-P = 15 mg/dl
or T-Gal = 97 %ile
Gal = 2.5 mg/dl Gal = 3 mg/d| Gal = 6 mg/d|
18 or T-Gal = 9 mg/dl or T-Gal = 12 mg/d| or T-Gal = 20 mg/dl
A -E(EE) 4 b -E (EME)
2 Gal = 3 mg/dl Gal = 3 mg/dl
or Gal = 97 %ile
T-Gal = 4 mg/dl T-Gal = 7 mg/d|
21 or T-Gal = 95 %ile or Gal = 3 mg/d|
or Gal = 4 mg/dl | or Gal-1-P = 10 mg/dl
2 Gal = 3 mg/dI Gal = 3 mg/d|
or Gal-1-P = 10 mg/dl | or Gal-1-P = 10 mg/d|
23 Gal = 3 mg/dI Gal = 3 mg/dl Gal = 3 mg/dl Gal = 8 mg/d|
Gal = 2 meg/dl Gal = 3 mg/dl
24 or Gal-1-P = 10 mg/dI or Gal-1-P = 15 mg/dl
M- GEM)
Gal = 95 %ile Gal = 3 mg/d| Gal = 3 mg/dl |BDFEIR(E. Gal 3mg/dl & A hS—IEEE R
25 or Gal = 3 mg/dl | or Gal-1-P = 15 mg/dl & AM-E(EH)
or Gal-1-P = 15 mg/dI
27 Gal = 3 meg/dl Gal = 3 mg/dl
28 Gal = 3 mg/dI Gal = 3 mg/dl Gal = 10 mg/dl
or T-Gal = 10 mg/dl | or Gal-1-P = 15 mg/dl
Gal = 3 mg/dI Gal = 6 mg/dl Gal = 20 mg/dl
29 or T-Gal = 7 mg/dl | or Gal-1-P = 15 mg/dl
or Gal = 95 %ile
30 Gal = 4 meg/dl Gal = 4 mg/dl
or Gal = 95 %ile
Gal = 3 meg/dl Gal = 5 mg/dl




31 or T-Gal = 5 mg/dl or Gal-1-P = 15 mg/d|
or T-Gal > 97 Yile
T-Gal = 9.5 mg/dl T-Gal = 9.5 mg/dl T-Gal = 9.5 mg/dl |EMEEOHY MDA T OEDTY,
32 Y ol = 95 | medl TotalGalz9.5mg/dIRGALTS2.4U/gHb
33 Gal = 3 mg/dl Gal = 3 mg/d|
34 Gal = 2.5 meg/dl Gal = 3 mg/dl
or Gal-1-P = 15 mg/dl or Gal-1-P = 15 mg/d|
35 Gal = 2.5 mg/dl Gal = 3 mg/dl
or Gal = 95 %ile or Gal-1-P = 15 mg/d|
36 Gal = 3 mg/d|
Gal = 2.5 mg/dl Gal = 3 mg/dl Gal = 10 mg/dl
37 or Gal-1-P = 12 mg/dl | or Gal-1-P = 15 mg/dl
or T-Gal = 10 mg/dl
Gal = 2.5 mg/dl Gal = 3 mg/dl
18 or Gal = 95 %ile or Gal-1-P = 15 mg/dl
or T-Gal = 8 mg/dl
or T-Gal = 95 %ile
20 Gal = 6 mg/dl Gal = 6 mg/dl Gal = 6 mg/dl |EMFEE & GALT’EIE =1.32 nmol/h/disc
or Gal = 95 %ile
[HERARE hy MATMEENN]
Gal 2 3 mg/dl Gal 3 mg/dl Gal = 10 me/dl |or RARS—3E (EH) BBEOEOED
42
or Gal-1-P = 15 mg/dl | or Gal-1-P = 15 mg/dl {E”EE hyMATEEN]
or MAhS—iE (EM) HAOEVED
Gal = 3 mg/dI Gal = 6 mg/dl
43 or T-Gal = 7 mg/dl | or Gal-1-P = 15 mg/dl
or Gal = 95 %ile
9 Gal = 3 mg/dl Gal = 3 mg/dl Gal = 10 mg/dl
or Gal-1-P = 15 mg/d|
54 Gal = 6 mg/dl Gal = 6 mg/dl
T-Gal = 6 mg/dI Gal = 3 mg/dl
59 or T-Gal = 95 %ile or Gal-1-P = 15 mg/dl
or Gal = 6 mg/dI
66 Gal = 3 mg/dl Gal = 6 mg/dl Gal = 6 mg/dl
or T-Gal = 6 mg/dl | or Gal-1-P = 15 mg/d| & AM-E(EM)
. Gal = 3 mg/dl Gal = 3 mg/dl Gal = 20 mg/dl
or Gal-1-P = 15 mg/dI
60 Gal = 6 mg/dl Gal = 6 mg/dl
or Gal-1-P = 18 mg/dI or Gal-1-P = 18 mg/dl
71 Gal = 4 mg/dl Gal = 4 mg/dl Gal = 10 mg/d|
7 Gal = 5 mg/dl Gal = mg/dl Gal = 10 mg/dl |BIFERE : NORA hS—EEEMRU
or T-Gal = 6 mg/dl | or Gal-1-P = 15 mg/dl
71 Gal = 2.5 mg/dI Gal = 3 mg/d|
or Gal-1-P = 13.5 mg/dl | or Gal-1-P = 15 mg/dl
75 Gal = 3 mg/d| Gal = 8 mg/d|
76 Gal = 2.5 meg/dl Gal = mg/dl Gal = 10 mg/dl
T-Gal = 95 %ile Gal = 4 mg/d| Gal = 10 mg/d|
78 or T-Gal = 6.4 mg/dl | or Gal-1-P = 15 mg/dl
or Gal = 3 mg/dI
Gal = 2.5 meg/dl Gal = 3 mg/dl Gal = 10 mg/dl
82 or T-Gal = 6 mg/dI or Gal-1-P = 15 mg/dl
or T-Gal = 95 %ile
83 Gal = 6 mg/dI Gal = 6 mg/dl Gal = 12 mg/dl
84 Gal = 3 meg/dl Gal = 3 mg/dl
or Gal-1-P = 15 mg/dl or Gal-1-P = 15 mg/d|




